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I) Choose the correct answer (write it in the table above):

fxAo = 4oMers

fsgamys rn—,"l———\
| e | =9 pe | 7
1) (=2,71N[3,11) = =" 3 =+ "

P ———

(a) (—2,11) (b) [3,7] (c) (—2,3]U[7,11) (d) [7,11)

i =% 2 4
R R U LA

2) o
(a) 277y (b) z7y~" (c) z (d) z%y
3) The domain of — - is 'D=§ we R/ 4-—'27&)0?
S= e <5 xewr/ —4>'Z_x'f—.-.§'>f-€-“z/z>xz
(a) (=00,2) ))| (b) (—00,2] (c) (2,00) (d) [2,00)

x-2 . 4 x(x-2)+) _ xx2x+
1 = YA T Xy T x(xmy | x(x-
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W (xl) -

(c) 1 (d) z
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5) The equation of the line passing through the point A(1,3) and parallel to the line

y+ar=0is
—
@Qy=xa+2 (b) )y+x—4=0 (d)2y—32-3=0 Y4*=
y=-22+5 y-3=-Cx"
-3 =-x¥)
x-4=C
6) The center of the circle with equation (x — 5)? + (y + 2)* = 49 is the point LAl
(x-%) 4 (49 = & > XoZ5 g7
Jre— Yo =2=¢
(a) C(-5,2) (b) C(2,-5) (c) C(=2,5) (d) C(5,-2)
] o _ _(3+)(2-1)
7) If zy =3+ 7 and 2o =2 — 17, then 2,25 equals 3 (?)l -.:_(6—-3" _',?_«' L Ry
(b) 7+ (c) 5 —i (d) 5+

")

8) The solution of equation 4 — 3z = =2(x 4+ 1) is

A-3x :——7.‘1-'?_

Al E BN ) X a

(2) z=13

(b)z=6

(c) z=—6

@)zm=2

9) The solution of |5 — 2z| < 3 is

—35-2x <3
—R ¢-2x<¢-2 & 41 <«x<4

(a) z € (—8,—-2)

(b) z € (—3,3)

(c) z € (—4,-1)

(d) z € (1,4)

10) The remainder when P(z) = 23 — 2% + 4 is divided by = + 1 is Rl=1) = .

(a) z =1

(b) z =2

(c)z=3

13—2)(.%—\' - (x'H) (11—31 +3)+ 4.
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\lath 218
1) A) Find all the solutions (real or complex) of the equations:
i) z? -4z +5=0
&
The discuminant D= b*_ Aac = A6 —-4-1.5 = -4 :LZl)

= -b-VD _ 4-2¢ — Dot

1)

YU
[ :
i A
2a

|

i) :(:—1_3:+1+$2—1' € \5‘ ?

Ler x ¢ R\§x1¢

CIH) (X+l) =

&> frd) O )= 3(x-1)+15

&ﬂwe‘;) L=t e X +5xt4 Fam e se
L = x'l—(-'ll-‘% =0
® (x-vth) =0

-x___._zep%r X.:'——4 GDE

- A
2 (% \)+ :S
X

xt—\

So
_§ 9, -4
o 2-o)(=+]) Se =3 % ?
B) Solve the inequality p— <0.
x| -4 2 3
&; | — p & |4 |\t
— Ft + — _
o Rk
@ |+ ¢~ g* B~
S=[-+2Ju (3
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C) Let z =1+ 13, compute |z, z and 22. 3 == +iy wil x =1 2Y= V3
’ \,\OJ&.S/B £ /3'/ =V 11—*'37’ = 443 =2
\2. ° 3 = X "\‘3 - /L-—\‘ \[E

L 3% o (4+iV3)" = 4720 LGB < —2 42V

D) Find the coordinates of the center and the radius of the circle with equation

/> 2?4yt —2r—4dy+1=0
/6‘/\0/&‘3 QL’L—’?—'&) +le_4j) 2 =
\/ [@—4)2—13 +[@ -'2)2'- 22_] ] iy

(x —y* - Q_-j-'l)L = "

T—}.'n an €q Q;F au;\,c,& Jp C,u.;"-c. C ('1_,2) d,u.!{'adl'okfﬁ

= 2z% —

M\(a E) Use long division to find the quotient and the remainder when P(z)
3122 + 5z — 2 is divided by #* +z + 1.

@N\

4 20 _o| xirx+d
_ 7}_16 qMoﬁ‘mL— v @_ 12_2/:(-;-3) 22L4,ix;itz Zl
. _ g4A_a2x3-2
\.JCA (%] C/-{-OI'*'@ -—"’_‘__21’;'_5'%’2.*_51_1

Cw e -\‘i‘) 24'3(,3 +_Q;rf‘"+i!—

- 777(’ fEmaav;\

) = ch’*'x‘“)(’bclfﬁxa?) 4

F) Find a polynomial of degree 4 that has zeros (—2), 0, 1 and 2 and the coefficient

of 2% is (—8).

l)/o/4g,zmgfgaoes-1§ P Hen

Pewy =z a % (x—\){x—v—) (xt2)

- A& (1:2'-13 (_'X.?’-—A)
- Qa [_:('A-—AX’L"I’B x A"a
3 _4ga1t+haX

:a'I.A—'a-x
ho Ho ellicobd 2 wee) fRew a=?

ee————"1]

W( MCA'A-CE +6\4."‘ ?(1 ) = g I—(_x-"\) L‘LQ’_,A) End of exam
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